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» E: cm
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4x2x3.14 = 25.12( cm)
HE2]50] 3em Q] Yo YFE F5tH
3x2x3.14 = 18.84( cm)
T 9] YFo & 5
25.12 — 18.84 = 6.28( cm) YUt}
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= 2
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> HE T 452.16 cm?

W2 8)= 24 + 2 = 12(cm)
o] Wol)=("tAF)x (FHAF)x3.14
12 x 12 % 3.14 = 452.16( cm?)
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> HED 20.096m
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0.8 % 3.14 x 8 = 20.096( m)
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>
> HEHD 25.12cm?

(A1E°l 8em <l HE

S|

o] yol) =(4><4><3.14)><%

= 25.12( cm?)
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> He: 1:4
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A 7k ¥ix] 5] doJE 1

U 9] BEz| 5] dolE 28 ot Ho]E FotH

(& 719 Hol)=1x1x3.14 = 3.14

(¥ 9] Hol)=2x2x3.14 = 12.56

12.56 ~ 3.14 = 40|22
A 7to} 9 vpe] dolo] v|g Folw
1:49Yrtt.




11. 90|71 452.16 cm? Q1 Yo] 9FE F3HA| Q.

> em

> HE . 75.36cm

B
A9l WA 59 dolS [ Jemety 51W
[ Ix[ ]x3.14=452.16

[ Ix[_]=452.16+3.14

[ Ix[ ]=144

[ ]=12

b FE= 12 x 2 x 3.14 = 75.36( cm) YU T
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A(7h 9 WAZ Aol [ Jemetn sha

[ Ix[ ]x3.14=254.34

kA P 9 x 2 x 3.14 = 56.52(cm)

A (W) 9§21 59 dolE acmetal 5HA
AXAX3.14=379.94 AX A =121
A=11

kA P 11 x 2 x 3.14 = 69.08( cm)

HatA £ go] 93] 4 Foi
69.08 — 56.52 = 12.56( cm) At
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tREO] Wols AE°] 16cm Q1 ¥9] Wolot E5Ut.
.14 = 200.96( cm?)
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- --18cm- -~
@ 30.14cm @56.520111 3@ 62.8cm
@ 68.16cm ® 78.5cm

1
:(18x2x3.14)x71x2

= 56.52(cm)
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CELEEERD)

—(3AZB Y Wol)-(99] W)

= (16 x 16) — (8 X 8 x 3.14) = 256 — 200.96
= 55.04(cm?)
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100.48 cm?

B

(=99 2el)

= (12x 3.14) + (4 x 3.14)

= 37.68 + 12.56

= 50.24(cm)

(|el)

= (6x6x3.14) — (2x2x3.14)
=113.04 — 12.56

= 100.48( cm?)
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T~ ~12em- -
> H cm?
> HEeHD 113.04.cm?

1
12X 12X 3.14 x = 113.04(cm?)
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